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WEDNESDAY

1500 hours = [ 3a.m.
L13p.m.

. Which is the better value for money?
(18 bananas for 50p |1 4 bananas for 20p

s 34/10 closerto 3 or 47

4. 950 +475=

. Show a 90° turn clockwise.

. 90x50=

7. £3.05+£2.20 + £4.55 =

8. Is this angle [ acute?
[ reflex?

. Tick the prime number.
(I3 Cle Ors

. Tick which you would use to measure a door.
[ ruter ] metre stick
. Write the numeral twenty-one thousand and one.

. Is this shape regular or irregular?

. B=

. 30x80=
. Tick the larger.
. Tick the smaller.
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. 850-225=
<Y, Wrveld faise

www.prim-ed.com

11.

12.
13.

14.

1
16.
17.
18.
19.

20.

THURSDAY

. 1800 hours= [ 6am.

[ 6p.m.

Write the numeral thirty-four
thousand and eleven.

Show a 180° turn clockwise.

Is 2%/, closer to 2 or 37

650 + 705 =

; =
. Tick the prime number.

(175 [l 17
920 — 760 =

210-70=
Is this shape regular or irregular?

Tick which you would use to measure the
playground.

[ Imetre stick [ trundle wheel

90x 30 =
Which is the better value for money?
L1 9 drinks for 75p L] 12 drinks for 95p

-

How long? cm

£10.10 +£2.60 + £4.25 =

Tick the larger. [ v 4 L] Y,

Tick the smaller.  [154910 [ 154009
V=Y, [ truel ] false
Is this angle

L reflex?

[ obtuse?

Is this shape regular or irregular?
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